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Q.2a. Explain the functions of a switching system.
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b. What are design parameters of a switching system? Explain 100 line step by step
switching system.
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Q.3 a. Explain the mathematical model of the traffic offered to telecommunication
system.
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A group of five trunks is offered 2E of traffic. Find :
(i) Grade of service

(i) Probability that only one trunk is busy

(iii) Probability that only only one trunk in free

(iv) Probability that at least one trunk is free
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Q4 a. What is meant by link systems? Explain two stage networks in detail.

b. Design a three stage Network for 100 incoming trunks and 400 outgoing trunks.

© IETE 4



AE 64

TELECOMMUNICATION SWITCHING SYSTEMS | DEC 2014

Tta mmm%magu Live to a collad by cLoosing
@'/{//C\BMM W&wﬂlh{lﬂh P-ﬂ-(?(aiﬂﬁxm@u«-h w;l-t,ca'm—dl»\g)
MWMMW A don @hege Lble AYffem js an under -
o LMNM:oMMvd.qw!Nngm
““"LQMWMW fertches
‘edmgfn amtels amd Janttehes
“' nau-*(l—é_’b*%% a{;pu»vah

ﬂu"rchu @) = no -

fonrche
= 2w Gtouifédsrw\(w e,
= Me- aflbwkﬂ— ik,
Whaat

i ) wﬁh,\faﬁuwlk&
?“ ‘ . Cb);“ﬂ-& Furste = hf{k\ﬂ\&'&k&:x
TlaAstal we %M(‘ M}d,,-&gm-—&
M#M‘é“"mé fa

grdaﬂ;f 'g,ut
Ly ;nafu;"#m.ra’rwzﬁé‘“‘“““x o

= inles = (NIn :

e cf#a« sty e @) oot e DG gy, Tova . &,
u: W o lott wring o pictinlon i, i = = Prebabilely b bnt
wa_ifh»m anr 2 :I—U-“JC"")

resig o all § peFd 0 b g (n—a)af~§)j‘*r (3]

b. MWM?G@%%«&, WiER r~>//
TR 160 [en+ye0 — YYF o Qm[’(_;’:t;o = 1789
LMz Wer £ o lb 20

e,

%wwwﬂ 3(44&'5 i

S peeodasy ptarif e 2T

2o Jr%h“*?- Gutedes of pat T2

Fewndlt o by Wz ,
i tls UKy
aiqu /*V“ (S

Nf-M



AE 64 TELECOMMUNICATION SWITCHING SYSTEMS DEC 2014

Q.5 a. Explain three-stage combination switching and give the expression for blocking
probability of a TST switch.

b. Calculate the maximum access time that can be permitted for the data and control
memories in a TSI switch with a single input and single output trunk multiplexing 2500
channels. Also estimate the cost of the switch and compare it with that of a single stage
space division switch.
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Q.6a. Give the characteristics of micro programmed and hand wired control schemes.
b.Explain the basic symbols defined for use in state transition diagram.

c.Explain signal exchange diagram for local call.
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Q.7 a. Explain the meaning of following terms applied to inter register signalling:
(1) En-block signalling
(ii) overlap signalling
(i) link by link signalling
(iv) end to end signalling

b. What is common channel signalling? Give its advantages.

& Q.L")va—ua—ck Mv\aiﬂr—&_—— O Abes Mﬂ’ﬁﬂ%

e TR e W T R R ot ” e
cddir st o el B T it kil T
an a gl shidrg o VER - Ne geal i pud -

d 2 Aos betn eett )

apfplits - ; ol ane s ot
> Doonlop Kigraltiog — o Ay ppullig i S Ty
0> Queld Aipabi B Ll g w AT efpae b

UU)UU‘L Lainke (A8 e nitn 'M oregistest e A ulls nbe

mee,. 4_56- -

dv) Dedds S bpallingn 0 Y5 O
R T onnecta ule o =

e it b pesszs e ey

o a;&g&v\ (A2 ,Q,.JLM e"“"ke‘)r
L. Camvwon clevivdd L = ﬁdy\hﬂzk -4
4 a .
M@M,\ﬁ'fjﬂ‘* by R abavrel /Mﬁb"‘d‘l‘ﬁ‘ Y
Arcned & TA le noetN Ha cavuch mer= F{“D(%}
Bvarage gk Lebes ¥ T

© IETE 9



AE 64 TELECOMMUNICATION SWITCHING SYSTEMS DEC 2014

Q.8 a. Explain the difference between a circuit switched and a packet switched
network and discuss their relative merits.

b. A pure ALOHA system uses a 56 kbit/s channel. On average each terminal
originates a 1024 bit packet every seconds. How many terminals can the
system accommodate?

c. Explain the basic functions of an ATM switch
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Q.9a. Explain the intelligent network architecture.

b.Explain the principles determining a national numbering plan. How is this influenced
by the need for an international number plan?
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Text books

1. Telecommunications Switching, Traffic and Networks, J.E.Flood, Pearson Education-

2006
2. Telecommunication Switching Systems and Networks, Thiagarajan Viswanathan,
Prentice Hall of India Pvt. Ltd, 2007
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